
TIPS

1.This product is divided into 2 parcels for delivery. They may not arrive at the same

time. Please wait patiently.

2.Please read the instructions fully before assembly. These instructions include

important information which could ensure correct assembly. We have been working

on providing high quality products for you. However, in the rare instance that your

product is defective,missing parts or there are some issues, please don't hesitate to

contact our customer service to submit parts requirements, assembly suggestion,or

warranty claims, and we will give the best solution as soon as possible. If necessary,

we need you to provide some more clear pictures of the issue.

3.Insert the screws in holes and tighten the screws, but not too tight, 70%~80% is ok,

finally tighten all the screws. If some issues happened that some screws can not

target to the hole or some parts are difficult to install, please adjust the tightness of

the screws.

4.2 people are recommended to finish.

SUK: N652P314234/N652P314235



1/25

1

5
2

3

4

6

7

8

9

10

11

12

13

19

20

20

21

21

35

17

22

31

31

25

24

36

36

L

R
14

15

1618

18

19

29

27

29

35

35

35

44

45



1PC1PC

3 4 5

1PC1PC

1PC 1PC1PC

2/25

1PC

Part List N652P314234

 1/1

1 6

7 8 10

1PC

9 14

12PCS

1PC

32 L R

1PC1PC



1PC1PC

12 13

16 17 18 19 20
1PC1PC

1PC 2PCS2PCS1PC 2PCS

3/25

1PC

Part List N652P314233/N652P314235

 1/2

2 11 15

Remote control

21 22 24 25 27

2PCS 1PC1PC1PC 1PC

28 29 30 31 34

1PC 1PC24PCS2PCS 2PCS

35 36 37

40 41
4PCS

1PC

1PC2PCS

1PC

42

2PCS

Light stripPower cord

38

2PCS

39

6PCS

44 45

1PC 1PC

47



4/25

A

5PCS

B

F

C D E

Part List N652P314233

 2/2

M6*15

G H J K

L M N O

5PCS

M6*30

9PCS

M8*12

72PCS

M8*15

8PCS

M8*35

11PCS

M8*45

3PCS

M8*55

5PCS

M8*Ø22 

15PCS 2PCS

M3*12

1PC

M6

1PC 1PC 1PC

M8 M8

M8

P

5PCS

30

S



5/25

2

4PCS

M8*15

D

1

NO.1

NO.2

D

M

D

D

D

D

7 6

7

6

4

3



6/25

2

3PCS

M6*30

B

1

B

L

B

B

B

M

7

6

2

2

7

6

B



7/25

2

4PCS

M6*15

A

1

7

6 38

4PCS

M8*15

D

D

7

6

L



8/25

2

4PCS

M8*15

D

1

Lock first

Lock first

D

D

1

1

6

7

44

45



9/25

10

1

Front Front

BackBack

6

7

5
5

37

37

8
9

8 9

39

6PCS

M8*15

D

D

D

D

D
D

D

D



10/25

6PCS

M8*15

D

2PCS

M8*35

E

14

8

9

7

6

14

D

D

D

10

10

E



11/25

10

25

36

25

29

12

4PCS

M8*15

D

D

D

D

D



12/25

10

24

36

11

29

24

4PCS

M8*15

D

D D

D

D



11

12

34

34

10

10

46

46

S
S

S

S

S

S

S

S

S
30

L

R



14/25

10

M8*15

D

8PCS

M8*15

D

13

DD

DD

DD

DD



15/25

10

100%

100%15

100%

100%

13
11

12



F

22

22

31

10

10

F
45

2

47

F



17/25

8PCS

M8*12

C

10

10

20

21

20

21

20

21

19

20

21 19

35 35

C



18/25

1010

6PCS

M8*15

D

18

18

15
15

16

18

16

18

10

Velcro facing upwards

27

28

16

16

15

D

D

D

4PCS

M8*Ø22 

H

4PCS

M8*35

E

H

H

H

H

E

E

E



19/25

2PCS

M8

J

10

17

This step requires 2 people

Please first locate the middle hole and
lock the 17th tension rod, and then use
screws and nuts to lock both sides when
the tension rod is placed parallel

You need a person to lift the iron frame
for easy locking of the screws on the side

2PCS

M8*55

G

1PC

M8*35

E

J

J

G

G

E

N



20/25

8PCS

J

10

This step requires 2 people

Please be patient in finding the hole that
corresponds to the iron pipe and cylinder
frame, and lock it with screws and nuts

You need a person to lift the iron frame
for easy locking of the screws on the side

8PCS

M8*45

F

M8

J

J

F

F



21/25

10

NO.1    Turn out this screw counterclockwise.

NO.2    Put the other end of the cylinder frame on as shown in the picture.

NO.3    Lock the screws again.

NO.1

NO.2
NO.3

If the iron frame is
slightly out of position
after being lowered,
please loosen the screws
that were locked in the
previous two steps and
adjust the position of the
iron frame before locking
it again

8PCS

J

M8

J

J

N



22/25

10

32



23/25

10

30

30

10



Starting from here,

stick the light strip.

At the bottom
Stick the light strip on

sta
rt p

oint

24/25

10

     Light strip

         2PCS

    light strip

42



25/25

10

Remote control

1PC

40 Power cord

1PC

41

Connect

Insert

USB



EN:Battery Safety Instructions
1.Do not dispose of used button batteries or remote controls in household trash. To protect
the environment and prevent hazardous leakage, please follow these guidelines:

2.Remove button batteries after use and take them to a local battery recycling point or
hazardous waste collection site.

3.Do not burn or dismantle the batteries to avoid explosion or toxic release.

4.If the remote control is no longer in use, please deliver it to a certified electronics recycling
facility to promote resource reuse.

5.Keep out of reach of children to prevent accidental ingestion or injury.

6.This product does not include batteries; please purchase them separately. The compatible
button cell model for the remote control is CR2025 3V.

7.If the light strip is not working, please try replacing the battery first. If the issue persists,
contact the seller for assistance.

8.Keep the remote control away from children — keep it away from children! If the battery is
accidentally swallowed, seek medical attention immediately.

DE:Batteriesicherheitshinweise

1. Entsorgen Sie gebrauchte Knopfzellen oder Fernbedienungen nicht im Hausmüll. Um die
Umwelt zu schützen und gefährliche Leckagen zu vermeiden, beachten Sie bitte die folgenden
Hinweise:
2. Entfernen Sie die Knopfzelle nach dem Gebrauch und bringen Sie sie zu einer örtlichen
Batteriesammelstelle oder einem Sondermüllentsorgungszentrum.
3. Batterien nicht verbrennen oder zerlegen, um Explosionen oder die Freisetzung giftiger
Stoffe zu vermeiden.
4. Wenn die Fernbedienung nicht mehr verwendet wird, bringen Sie sie zu einer zertifizierten
Elektronik-Recyclingstelle, um eine Wiederverwertung zu ermöglichen.

5. Außerhalb der Reichweite von Kindern aufbewahren, um versehentliches Verschlucken oder
Verletzungen zu verhindern.

6.Dieses Produkt enthält keine Batterien. Bitte kaufen Sie diese separat. Das kompatible
Knopfzellenmodell für die Fernbedienung ist CR2025, 3V.

7.Wenn der Lichtstreifen nicht funktioniert, versuchen Sie zunächst, die Batterie zu wechseln.
Besteht das Problem weiterhin, kontaktieren Sie bitte den Verkäufer.

8.Halten Sie die Fernbedienung unbedingt von Kindern fern — unbedingt fernhalten!Wird
die Batterie versehentlich verschluckt, suchen Sie sofort medizinische Hilfe auf.



FR:Instructions de sécurité pour les piles

1. Ne jetez pas les piles bouton usagées ou les télécommandes à la poubelle ménagère. Pour
protéger l ’ environnement et éviter tout risque de fuite dangereuse, veuillez suivre les
consignes suivantes :
2. Retirez les piles bouton après usage et déposez-les dans un point de collecte local ou un
centre de déchets dangereux.
3. Ne brûlez pas et ne démontez pas les piles, cela pourrait entraîner une explosion ou libérer
des substances toxiques.
4. Si la télécommande n’est plus utilisée, déposez-la dans un centre de recyclage agréé pour
appareils électroniques, afin de favoriser la réutilisation des ressources.
5. Gardez hors de portée des enfants pour éviter tout risque d’ingestion accidentelle ou de
blessure.

6.Ce produit ne contient pas de pile. Veuillez l’acheter séparément. Le modèle de pile bouton
compatible pour la télécommande est CR2025, 3V.

7.Si le ruban LED ne fonctionne pas, essayez d’abord de remplacer la pile. Si le problème
persiste, contactez le vendeur.

8.Tenez la télécommande éloignée des enfants — éloignez-la vraiment ! En cas d’ingestion
accidentelle de la pile, consultez immédiatement un médecin.



NOTE:The battery in the remote control requires you to purchase and install it yourself.

Model:CR2025 3.V

1 2

4

6

7

5

3



Waltek Testing Group Co., Ltd.
HotIine:400-840-2288 E-mail:info@waltek.com.cn
Http://www.waltek.com.cn
Ver.02. 29.07.2022, WALTEK is registered trademark. Utilisation and application requires prior approval.

Reference No. : WTN23D07163421R1Z
Applicant : Guangdong Zhangong Electrical Technology Co., LTD
Address : 701, Building 29, Zhifu Garden, Xingtan Town,

Shunde District, Foshan City
Manufacturer : Guangdong Zhangong Electrical Technology Co., LTD
Address : 701, Building 29, Zhifu Garden, Xingtan Town,

Shunde District, Foshan City
Product : Furniture socket
Model No. : See model list
Technical data : 250V AC, 50-60Hz 13A USB, output:5.0V 2A 10W

Test Standards:
BS 1363-2: 2016+A1:2018
BS EN IEC 62368-1:2020/A11:2020

The above product has been tested by us with the listed standards and found in compliance with
the Electrical Equipment (Safety) Regulations 2016 of United Kingdom (S.I. 2016 No.1101). It is
possible to use UKCA marking to demonstrate the compliance with the regulations.

Audio/video, information and communication technology equipment- Part 1:Safety
requirements
13 A plugs, socket outlets, adaptors andconnection units-Part 2: Specification for 13 A
switched and unswitched
socket outlets

The referred test report(s) show that the product complies with standard(s) recognized as giving
presumption of compliance with the essential requirements in the above mentioned UK
regulations. Other relevant UK regulations have to be observed.

After preparation of the necessary technical documentation as well as the declaration of
conformity, the UKCA marking as shown below can be affixed on the equipment under the sole
responsibility of the manufacturer.

The statement is based on a single evaluation of the sample of above mentioned product.It does
not imply an assessment of the whole production.

Manager:Deval Qin
Date: 2024-07-08



Attachment
Model list

Reference No.:WTN23D07163421R1Z

Waltek Testing Group Co., Ltd.
HotIine:400-840-2288 E-mail:info@waltek.com.cn
Http://www.waltek.com.cn
Ver.02. 29.07.2022, WALTEK is registered trademark. Utilisation and application requires prior approval.

Product name Model name Differences differences

Furniture socket

ZG-JJY-1

13A 250V AC ,

USB output:5V
2A 10W

1-position socket without switch
and USB

ZG-JJY-1UK 1-bit socket with switch and USB

ZG-JJY-2
2-position socket without switch

and USB

ZG-JJY-2UK 2-bit socket with switch and USB

ZG-JJY-3
3-position socket without switch

and USB

ZG-JJY-3UK 3-bit socket with switch and USB

ZG-JJY-4
4-position socket without switch

and USB

ZG-JJY-4UK 4-bit socket with switch and USB

ZG-JJY-5
5-position socket without switch

and USB

ZG-JJY-5UK 5-bit socket with switch and USB

ZG-JJY-6
6-position socket without switch

and USB

ZG-JJY-6UK 6-bit socket with switch and USB

ZG-JJY-7
7-position socket without switch

and USB

ZG-JJY-7UK 7-bit socket with switch and USB

ZG-JJY-8
8-position socket without switch

and USB

ZG-JJY-8UK 8-bit socket with switch and USB

======End of Attachment======





Attestation of Compliance

Shenzhen LCS Compliance Testing Laboratory Ltd.
Room 101, 201, Building A and Room 301, Building C, Juji Industrial Park, Yabianxueziwei, Shajing Street,
Bao'an District, Shenzhen, Guangdong, China
Tel: (86)0755-82591330 Fax: (86)0755-82591332
Http://www.lcs-cert.com Email: webmaster@lcs-cert.com

Reference No. : LCSA06064121EE

Applicant : Dongguan Yihong Hardware Electronics Co., Ltd

Address : Room 1106, No.2, Shangheng Road, Chang ’ an Town,
Dongguan

Trade Mark : YH

Product : Bluetooth 2.4G remote controller

Model(s) : YH-284, YH-284-1, YH-284-2, YH-284-3, YH-284-4

Tested according to : BS EN 55032:2015+A11:2020
BS EN 55035:2017+A11:2020
BS EN IEC 61000-3-2:2019+A1:2021
BS EN 61000-3-3:2013+A2:2021

The submitted products have been tested by us with the listed standards.

This Attestation of Compliance is issued according to the UK legislation: Electromagnetic
Compatibility Regulations 2016(SI 2016 No. 1091), Referred to as the UK EMC regulation. It
confirms that the listed product complies with all essential requirements of the
Electromagnetic Compatibility Regulations 2016(SI 2016 No. 1091) and applies only to the
sample and its technical documentation submitted to Shenzhen LCS Compliance Testing
Laboratory Ltd. for testing.

After preparation of the necessary technical documentation (Which must be kept for up to 10
years after the product is placed on the GB market) as well as the UK declaration of
conformity, the required UKCA marking can be affixed on the product. Other relevant
Regulations have to be observed.

Date of issue: June 11, 2024

Manager



 

   

     

      
 

 

 

 
   

Importer COMHARBOR LIMITED

Add Unit C,Swit Point,Cosford Lane,Rugby,CV211PY,GB

Email/URL harborcomhar@gmail.com

Manufacturer Guangdong Zhangong Eledtrical Technology Co. LTD

Add 701,Building 29, hifu Garden, Xingtan Town,
ShundeDistrict，Foshan City

Email/URL info@waltek.com.cn

Product
identification 202505

Made in China

COMHARBOR LIMITED
Unit C,Swit Point,Cosford Lane,Rugby,CV211PY,GB 

harborcomhar@gmail.com



 

   

     

     

 

 

   

       
   

 
   

Importer COMHARBOR LIMITED

Add Unit C,Swit Point,Cosford Lane,Rugby,CV211PY,GB

Email/URL harborcomhar@gmail.com

Manufacturer Dongguan Yihong Hardware Electronics Co.. Ltd

Add Room 1106.No.2,Shangheng Road, Chang an Town

Email/URL 414564409@qq.com

Product
identification 202505

Made in China

Produt Name: LED Controller 

Model:YH-252
Rated voltage: 5 V
Rated frequency:50/60Hz 

Power:15W

COMHARBOR LIMITED
Unit C,Swit Point,Cosford Lane,Rugby,CV211PY,GB 

harborcomhar@gmail.com

Importer COMHARBOR LIMITED

Add Unit C,Swit Point,Cosford Lane,Rugby,CV211PY,GB

Email/URL harborcomhar@gmail.com

Manufacturer Foshan Xinwang Intelligent Technology Co., Ltd.

The fifth floor of Building 3, Haitian Lanyu Science and 

Technology Industrial Park, No. 5, Industrial 2nd Road,
Shilongzi Community, Shiyan Street, Bao'an District,
Shenzhen

Add

Email/URL 610488898@qq.com

202505Product
identification

ChinaMade in

Produt Name: LED soft light strip 

Model:HZY-5050RGB-60D-5V
Rated voltage: 5 V
Rated frequency:50/60Hz
Power:4.5W/M

COMHARBOR LIMITED
Unit C,Swit Point,Cosford Lane,Rugby,CV211PY,GB 

harborcomhar@gmail.com




